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This is an unfortunate situation, but we cannot change it You must be able to use all three.. Notice that the kPa values cancel and
the atm, in the denominator of the denominator, moves to the numerator.. Example #2: Convert 745 0 mmHg to atm Solution:
divide the mmHg value by 760 0 mmHg / atmNotice that the mmHg values cancel and the atm, in the denominator of the
denominator, moves to the numerator.

Example #3: Convert 0 955 atm to kPa Solution: multiply the atm value by 101 325 kPa / atm.
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Pressure Conversion Factors

1 standard atmosphere (atm) = 760 mm Hg (or torr)

1 standard atmosphere (atm) = 14.7 pounds/in? (psi)

1 standard atmosphere (atm) = 101.3 kPa (SI unit is PASCAL)
Therefore:

1 atm =760 mmHg = 760 Torr =101.3 kPa = 14.7 psi
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325 kPa, so both values will be involved This situation is slighly unusual because most conversions involve a one, usually in the
denominator.. Example #1: Convert 0 875 atm to mmHg Solution: multiply the atm value by 760 0 mmHg / atm. Mac Vhd
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Converting between atmospheres and millimeters of mercury One atm equals 760 0 mm Hg, so there will be a multiplication or
division based on the direction of the change.. The conversion examples above are examples of a one being involved For
example, 760.. Here they are:atmospheres (symbol = atm)millimeters of mercury (symbol = mm Hg)Pascals (symbol = Pa) or,
more commonly, kiloPascals (symbol = kPa)I.. Notice that the atm values - one in the numerator and one in the denominator -
cancel, leaving mmHg.. 0 mmHg / 1 00 atm in examples 1 and 2 The 1 00 was assumed to be present In this conversion, both
760.. Example #4: Convert 98 35 kPa to atm Solution: divide the kPa value by 101 325 kPa / atm. 0041d406d9 How To Page
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